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Barnesville falekl 6 7 8 3 8 5 9 10 4 6 6 9 7
Bellaire 5 ikl 4 3 7 5 9 6 7 3 3 2 4 3
Buckeye Trail 12 12 faleie 10 12 14 12 11 9 12 12 11 12 11
Coshocton 7 11 9 falaled 8 6 10 7 4 11 7 10 3 8
Edison 9 10 11 12 il 11 8 10 11 7 10 8 10 10
Fort Frye 14 14 14 14 14 faleie 14 14 14 14 14 14 14 14
Garaway 11 8 12 11 11 12 el 12 8 10 11 9 6 9
Harrison Central 10 9 10 9 9 10 11 faleka 12 9 8 12 11 12
Martins Ferry 8 7 5 6 10 7 4 8 HHx 8 5 7 8 4
Ridgewood 3 3 3 5 4 3 6 5 2 il 4 4 2 2
Sandy Valley 6 5 6 7 5 9 3 3 6 5 FHx 5 5 6
Tuscarawas Valley 4 4 8 4 6 4 7 4 5 6 9 falea 7 5
Union Local 2 2 2 2 2 2 1 2 3 2 2 3 falaied 1
West Muskingum 1 1 1 1 1 1 2 1 1 1 1 1 1 falaled




